Post-Mortem

(CS135 Fall 2024, Assignment 06

Question 2(a) Data Definition

Many students did not write the requirements;

e Some students wrote that the number of rows need to be different from the number of columns;

Some students wrote the incorrect data type;

— Some students used Number, number, or num instead of Num;

Some students used ne-listof instead of listof;

Question 3(a) Contract

e Some students wrote the produced type is only (1ist Desc Desc) but does not consider ;
e Some students wrote the incorrect consumed type;
e Some students had incorrect capitalizeation

e Some students used listof when 1ist would have been appropriate.

Question 3(a) Code Complexity

e Some students used 2 different helper functions to find the max and min Action.



